GROUP : SECOND 11" CLASS — 1° Annual 2024 | MARKS: 20

TR EER OBJECTIVE 0

NOTE: | You have four choices for each objective type questionas A, B, C and D . The choice which
% you think is correct, fill that circle in front of that question number. Use marker or pen to fill
151

the circles. Cutting or filling two or more circles will result in zero marks in that question.

QUESTION NO. 1 - DY —2-—24
1 | Number of necklaces can be made from 6 beads
1(A) 720 (B) 120 (C) 90 (D) 60
2 | Middlé term in expansion of (3 +x)" is
(A) 81x%° (B) 54 X (C) 26% (D) 108 X*
3 | One degree is equal to .................. radian
180 b4 L om
. = (8) o ©° 5 (D)
4 |cot(90-a)=
(A) tan a (8) -tana  (C) cota (D) -cota
5 | Period of sin x/3 is
(A) 27 (8) 2m/3 (C) 6m (D) 37
6 | COS Af2 = e
s(s—a) s(s—b) s(s—=a) s(s—b)
(A) = . (B) —— & d 5 e
7 | sec(cos™ % ) = - '
(A) 1/2  (B) 2 (C) m/3 (D) n/6
8 | Ifcosx = -v/3/2, then value of xis
W= @ (O3 (D) —/3
g |a<b=>-a>-b, a,b ER property used is
(A) Transitive (B) Additive (C) Multiplicative (D) Trichotomy
10 | f Z=1-i ,then 4 g :
w2 B2 ©V=2 (O V2
11 | A and B are disjoint sets then
(A)AnB‘—“(D (B}AUB=0 (C) A-Bx O (D) B-A=0
12 | Tabular form of {x|x€EAN2<qx <4
(A) {2,3,4} (B) {2, 4} (G) {4} (D) {9}
13 | The set A has m elements, Numberof elements in power set of A
(A) 2™ () 2™ (Ch2™* Dy 2™2 '
1 A « '
14 | Rank of [1 1] is
(A) Zero (8) 1 (C) -1 (D) 2
15 ‘| Determinantiof {25] s
(A) Zero (B) Not possible (C) -5 (D) 5
16 | aff B afe roots of ax’ —bx+c=0, then a +f =~
b b c c
(A - (B) -~ € 7 oy -=
17 | If polynomial x> —2x + 2 is divided by x—1 , then remainder is
(A) =1 () 1 (o (D) 2
= : x B .
18 | Partial fraction of D) = -1 el then value of B is
(A) -3/2 (B) 3/2 (€ 2/3 (D) -2/3
19 | Sum of n-arithmatic means between a and b is
(W =2 (8) nfath) © @) (@ n(57)
20 | Next term of sequence 7,9, 12, wceecrnennns Is
(A)14  (B) 15 (C) 16 (D) 18
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QUESTION NO. 2° Write short answers any Eight (8) of the following

16

i |simplify (5,-4)(-3,-2)

2=71
4+51i

il | Separate into real and imaginary parts

jiii | Prove that Z =2 if Zisreal

iv | Simplify (a+b i

v | Write two proper subsetsof {a,b,c}

vi | showthat (pAq)— p is a tautology

i) Find x andylf[l 0_ - +23 ; —Jﬂzﬁ._ﬁz ‘i

Viii | Find the matrix X if [_2 ]x [ 5 10]

1 2 -3
ix [ A=]0 =2 0| , thenfind A;; and As;
-2 =2 1

X | Evaluate o 4 aly

Xi | Use remainder theorem to find the remainder when X +3x+7 1§ divided by x +1

Xii | Discuss the nature of the roots of equation 2% —5x+1=0

QUESTION NO. 3 Write short answers any Eight (8) of the'following

16

i | Define partial fraction resolution

L _7xX¥25 A, _B gepindjihe values of Aand B
uppose = = n e value. an
PPOSE o eha) | x5 et 4% ®

iii | Write the first four terms of the following sequence , if an=(- 1) n"

iv | Which term of the A.P L Vi I — is -85 7

1 : . )
LR T ;1; ; % and —qare in G.P. Show that the common ratio Is i‘E

vi | Showthat [G7 2yAH if a=2i, b=4i

vii | Find thevalue of n if "P; =30

viii | Find the number of the diagonals of a 6-sided figure .

ix | A dieisrolled. What is the probability that the dots on the top are greater than 4 ?

X | Prove that 4“>3+4 istruefor k=2,3

xi | Calculate (0.97‘)3 by means of binomial theorem

xii | Expand up to 4 terms (1- )2, taking the values of x such that the expansion is valid

D
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QUESTION NO. 4 Write short answers any Nine (9) of the following 18
| T |[Find £, wheh # =65°20" , r=18 mm
i | Ver nd4s°+ 1 s L
i Verify that 2 sin 45° + 5 cosec 45 7
iii | Without using'the tables, find the value of sec (- 300)
iV | Prove that M = taﬁ 37°
dos 8%+ sin 8°
v |Provethat 1+tanatan2 a =sec2 a
vi | Write down the domain and range of sinx
Vii | Find the period of cot g
viii | Draw the graphof y=cosx for 0< x< 360°
ix | What is difference between right angle triangle and oblique triangle.
X | Find the area of the triangle ABC, if a=200, b= 120 ,¥= 150°
xi | Find the radius of in-circleif a=13 , b=14, c=15
xii | wi i 15 Lsint =
Without using calculator , show that tan = — =SsIn 13
Xiii | Solve the equation sinx+cosx=0
SECTION-H
Note: Attempt any Three questions from this section 10x3=30

Q.5- (A) | Solve the equation V5x% +7x+2 ~¥4x2+7x+18 =x—-4

(B) | Use matrices to solve the following system of equation
2%+ X+ 3%3=3

Y1+ X=2x3=0

-3X; — Xz + X3 =04

2

Q.6- (A) ™ . : __._).{_..._..
Resolve the following into partial fractions x2)(x-1)2

(B) Find /n,so that Ll

Tl May be the A.M. between a and b

Q.7-(A) A natural number is chosen out of the first fifty natural numbers. What is the probability
that the chosen number is multiple of 3or5 ?

3
(B) Expand G - ;2;) by using binomial theorem

1

Q.8-(A) | show that cos 20° cos 40° cos 80° = 8

(B) | The sides of triangle are x*+x+1 , 2x+1 and X =1
Prove that the greatest angle of the triangle is 120°

Q.9-(A) Prove that : ’ﬂ =secf-tan@
1+sin8

Where 0 is not an odd multiple of -E

(B) |[provethat: cosA+ cos™B =cos” [AB-V1—A2V1—B?]
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